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 / ndf 2χ  42.79 / 23
Prob   0.007332
p0        0.2001±  3.68 
p1        0.001199± 0.1541 

 / ndf 2χ  42.79 / 23
Prob   0.007332
p0        0.2001±  3.68 
p1        0.001199± 0.1541 

0
=45ϕRUN=7, CH=2, Udet=650V, 

 / ndf 2χ  42.79 / 23
Prob   0.007332
p0        0.2001±  3.68 
p1        0.001199± 0.1541 

0
=45ϕRUN=7, CH=2, Udet=650V, 
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 / ndf 2χ  72.53 / 29
Prob   1.355e-05
p0        0.1464± 3.967 
p1        0.0009688± 0.1768 

 / ndf 2χ  72.53 / 29
Prob   1.355e-05
p0        0.1464± 3.967 
p1        0.0009688± 0.1768 

0
=45ϕRUN=7, CH=2, Udet=550V, 

 / ndf 2χ  72.53 / 29
Prob   1.355e-05
p0        0.1464± 3.967 
p1        0.0009688± 0.1768 

0
=45ϕRUN=7, CH=2, Udet=550V, 
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 / ndf 2χ  58.62 / 36
Prob   0.01001
p0        0.1027± 3.175 
p1        0.001429± 0.2471 

 / ndf 2χ  58.62 / 36
Prob   0.01001
p0        0.1027± 3.175 
p1        0.001429± 0.2471 

0
=45ϕRUN=7, CH=2, Udet=350V, 

 / ndf 2χ  58.62 / 36
Prob   0.01001
p0        0.1027± 3.175 
p1        0.001429± 0.2471 

0
=45ϕRUN=7, CH=2, Udet=350V, 
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 / ndf 2χ  44.08 / 34
Prob   0.1155
p0        0.3021± 5.339 
p1        0.001407± 0.1886 

 / ndf 2χ  44.08 / 34
Prob   0.1155
p0        0.3021± 5.339 
p1        0.001407± 0.1886 

0
=45ϕRUN=8, CH=2, Udet=350V, 

 / ndf 2χ  44.08 / 34
Prob   0.1155
p0        0.3021± 5.339 
p1        0.001407± 0.1886 

0
=45ϕRUN=8, CH=2, Udet=350V, 
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 / ndf 2χ  52.58 / 24
Prob   0.0006571
p0        0.1254± 3.491 
p1        0.001135± 0.1635 

 / ndf 2χ  52.58 / 24
Prob   0.0006571
p0        0.1254± 3.491 
p1        0.001135± 0.1635 

0
=45ϕRUN=9, CH=2, Udet=-650V, 

 / ndf 2χ  52.58 / 24
Prob   0.0006571
p0        0.1254± 3.491 
p1        0.001135± 0.1635 

0
=45ϕRUN=9, CH=2, Udet=-650V, 
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 / ndf 2χ  68.91 / 33
Prob   0.0002465
p0        0.06334± 2.827 
p1        0.000768± 0.1708 

 / ndf 2χ  68.91 / 33
Prob   0.0002465
p0        0.06334± 2.827 
p1        0.000768± 0.1708 

0
=45ϕRUN=9, CH=2, Udet=-550V, 

 / ndf 2χ  68.91 / 33
Prob   0.0002465
p0        0.06334± 2.827 
p1        0.000768± 0.1708 

0
=45ϕRUN=9, CH=2, Udet=-550V, 
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 / ndf 2χ  58.94 / 29
Prob   0.0008361
p0        0.1278± 3.647 
p1        0.001243± -0.2026 

 / ndf 2χ  58.94 / 29
Prob   0.0008361
p0        0.1278± 3.647 
p1        0.001243± -0.2026 

0
=45ϕRUN=9, CH=2, Udet=-350V, 

 / ndf 2χ  58.94 / 29
Prob   0.0008361
p0        0.1278± 3.647 
p1        0.001243± -0.2026 

0
=45ϕRUN=9, CH=2, Udet=-350V, 
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 / ndf 2χ  69.96 / 26
Prob   6.717e-06
p0        0.1245± 3.788 
p1        0.0008118± 0.1559 

 / ndf 2χ  69.96 / 26
Prob   6.717e-06
p0        0.1245± 3.788 
p1        0.0008118± 0.1559 

0
=45ϕRUN=10, CH=2, Udet=-650V, 

 / ndf 2χ  69.96 / 26
Prob   6.717e-06
p0        0.1245± 3.788 
p1        0.0008118± 0.1559 

0
=45ϕRUN=10, CH=2, Udet=-650V, 


